
S0080030000001

BEARING 
6000-2RS

S0080030000002
                     

BEARING 
6802-2RS

S0080030000003

BEARING 
6803-2RS

S0080030000004

BEARING 
6900-2RS

S0080030000005               

BEARING 
6902-2RS

S0080030000007            

BEARING 
6903/18-2RS

S0080030000008          

BEARING 
17287-2RS

S0080030000009          

BEARING 
699-2RS

S0080030000010          

BEARING 
6903-2RS

S0080030000011          

BEARING 
15267-2RS

(26x10x8) (24x15x5) (26x17x5) (22x10x6) (28x15x7) (30x18x7) (28x17x7) (20x9x6) (30x17x7) (26x15x7)

 FRONT LEFT
 FRONT RIGHT
 FRONT LEFT
 FRONT RIGHT
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS
 FRONT LEFT
 FRONT RIGHT
 REAR DS
 REAR NDS

DT180

DT180 EXP DISC STRAIGHTPULL

DT240 EXP DISC STRAIGHTPULL

DT240

DT350 DT350 STRAIGHTPULL 2:1 
(REAR)

DT240 STRAIGHTPULL 2:1 
(REAR)

 DT240 CLASSIC / STRAIGHTPULL

DT240 DISC CLASSIC / STRAIGHTPULL 
(INCL. 2:1)

DT350 STRAIGHTPULL

DT350 DISC STRAIGHTPULL 
(INCL. 2:1)

DT180 STRAIGHTPULL 
FULL CARBON 2:1

 DT180 CLASSIC

FFWD BEARING USAGE 

 FFWD 2011+

 FFWD TRACK

 FIVE SPOKE

 THREE SPOKE

FFWD  DT/FFWD 2014+

FFWD TWO/ONE DISC RATCHET

FFWD RB RATCHET (TYRO RIMBRAKE)

FFWD DISC RATCHET (TYRO/OUTRIDE)


